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QUESTION 1

What can PTP be used to synchronize?
A. Time, frequency, phase

B. Rate

C. Phase, time

D. Frequency

Correct Answer: A

QUESTION 2

Which type of backhaul network does the Cisco Unified RAN Backhaul use?
A. SONET

B. ATM

C. IP MPLS

D. TDM

Correct Answer: C

QUESTION 3

What technology allows for the network to simulate actual wired connections for TDM or ATM backhaul?
A. SONET

B. SyncE

C. IPSEC

D. Pseudowire

Correct Answer: D

QUESTION 4
In a Unified MPLS for IP MBH context, what are pre-aggregation nodes?
A. are route reflector clients of the Core Route reflector

B. are route reflector clients of the core node ASBR
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C. are route reflector clients of the core node ABR
D. are all route reflector

Correct Answer: C

QUESTION 5

What does virtualization of the core route reflectors do?
A. limit the availability

B. does not enhance resiliency

C. enhance resiliency or availability

D. adds complexity

Correct Answer: C
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